20204 EIHE 20204583H () 9004 ~ 11K515% (2K5RI159)) BEBRAR - #ERS
TEAM 1 2 3 4 5 6 7 8 9 10 11 12 13 R H E
A fLigF> 72 3 1 0 4 0 0 0 2 10 12 2
Bt Z3—L2R 1 0 0 2 0 0 0 2 5 10 1
[ MvPGT®H) | EH#BE EEI
| #2 | EB®HE 15 | AAEE 3% \ \ \ \ \ |
[ mve@s) | BB EE
| mamgs | susw ok | -7 | - R - \ \ \ |
BF Il E B 1-1 Bi5 % 4-6 AL KEE 7-2
BERF A BEBF 1-1
#BX: Xa—1LX
TR 28 1 2 3 4 5 6 7 8 9 10 11 12 13 14 T2 & &k MW & %] 1%
1 EES e AR (1) bik:y R 3,2 11 667
2 EEsCAR |@on —=n R 3 1 .063
3 N=ETN = Bk iz 201 11 .250
4 RANI##E |—30 FR7R —n 3 214
5 AR ERE o3k AR (2) S 2 1) 1] 2 1 .263
6 Lt 1E—AB 2 BB F 3,2 .188
7 BiE % D] E3i% e =an 31 222
8 Il S R = k& (2 301 2 421
9 =% = Bk =-n R 2 1 143
10 4R — —=n AR 301 333
11 B KB =R —on =i 3 1 .000
12 KERK Esigmpn| i 2 .250
13 R B2 k% =ik 201 1 500
TOTAL[34 (10| 2] 5] 3] 3 1 224
B ALRF TR
fIIE | RFTE £A 1 2 3 4 5 6 7 8 9 10 11 12 13 14 BHE T R AR M & HEER
1 EiT# B4 (1) /R 22 (2 BB R I BB (8)
2 HTE DA =% = =am 3 15 5 2/ 2 2 3 643
3 aiT#E o3k i qmpn s qmpn E=-pi BiE 5
4 HiTE EEX (2 kR —R oo 3 16 4 |1/ 1 2 675
5 aiT#E =3n. Plissid Estqmpn| EE AL KEE
6 BiTE =iR kR —on kR 2 10 3 |1 1 2 120
7 aiT#E Vik:o —7R Esigmin| Pl o
8 1% ==n AR i PR L]
9 aiT&E UEE=T POk Viko d (2)
0 EE = T =5 =5 [ T T T T T ]
— HEEEEN
8 4112 2| 4] 4 7T 117




